E K K B A A R G L TAE )

No. 1

K ik i3 7K H

W E B0 ik & B E N+ F m T M
H H E 1 WH [ n 1 WKy [ n #i WH [ n #i W [ n
i p H 7.4 ~17.8 7.6 2 7.0 ~7.1 7.1 2 7.6 ~8.1 7.9 2 7.4 ~7.5 7.5 2
ﬁ D O 4.1 ~5.1 4.6 2 4.5 ~5.0 4.8 2 7.2 ~9.8 8.5 2 5.7 ~6.2 6.0 2
if;*j COD 4.8 ~5.2 5.0 2 3.0 ~3.5 3.3 2 3.6 ~5.9 4.8 2 3.3 ~3.b 3.4 2
IH S S 9 ~21 15 2 7~ 17 12 2 4 ~6 5 2 7T ~38 8 2
H h—~® i <0.5 * 1 <0.5 * 1 <0.5 * 1 <0.5 * 1
T ND * 1 ND % 1 ND % 1 ND % 1
7L L KGR ND * 1 ND * 1 ND * 1 ND * 1
FIRIT L <0.001 * 1 <0.001 % 1 <0.001 % 1 <0.001 % 1
&h <0.005 * 1 <0.005 % 1 <0.005 % 1 <0.005 % 1
fit AYITZA= N <0.005 * 1 <0.005 % 1 <0.005 % 1 <0.005 % 1
% filts= 0.001 * 1 <0.001 % 1 0.001 % 1 <0.001 % 1
é\ KK R <0.0005 * 1 <0.0005 % 1 <0.0005 % 1 <0.0005 % 1
il % <0.002 * 1 <0.002 % 1 <0.002 % 1 <0.002 * 1
mtkaE p ot (0,06 ~ 0.34 0.20 [ 2| 0.12 ~0.16 | 0.14 | 2 0.01 ~0.17 0.09 [ 2] 0.16 ~1.1 0.64 2
BINTE 0.3 * 1 0.3 * 1 1.6 * 1 0.6 * 1
ESES 0.3 * 1 0.5 * 1 2.2 * 1 0.3 * 1
il <0.002 ~ 0.002 [<0.002] 2 |<0.002 ~ 0.006]0.003]| 2 <0.002 <0.002] 2 K0.002~ 0.002 [<0.002] 2
I il 0.006 0.006] 2 10.010 ~ 0.03210.021| 2 ]10.004 ~ 0.008 ]10.006( 2 ]0.008 ~ 0.01110.010 | 2
Tk T E gk 0.066 * 1 0.22 % 1 0.039 % 1 0.063 * 1
H | vt~ 0.038 * 1 0.072 % 1 0.065 * 1 0.024 * 1
H /AN <0.005 <0.005] 2 <0.005 <0.005( 2 <0.005 <0.005] 2 <0.005 <0.005| 2
7x/)— VA <0.02 * 1 <0.02 % 1 <0.02 * 1 <0.02 * 1
- B e 0.098 ~0.18 0.14 | 2| 0.013 ~0.024 10.019 | 2 0.37 ~0.73 0.55 [ 2 10.056 ~0.31 0.19 2
% TVESTHEEE SR 1.2 ~2.0 1.6 2 0.25 ~0.68 |0.47 | 2 1<0.001 ~0.75 0.38 [ 210.20 ~0.43 0.32 2
He RIS 0.03 ~0.23 0.16 | 2 0.0 ~0.14 |10.10 | 2 |1<0.001 ~0.13 007 [ 2] 0.12 ~1.1 0.60 2
GiRIE[YEEES 0.03 ~0.06 0.05 | 2 0.02 ~0.07 |10.05 | 2 0.01 ~0.04 0.03 [ 2] 0.04 ~0.05 0.05 2

(F52) Wifie - pHERE. W% (me/0) . NDIXFR ST,
5 TAIORILME 1> T BT [ OISR LA,




We K HK B A A R PRk 1 745 FE) No. 2
K i3 7K Hh
P E AL B AE WAE T W

H H EZ) ) W) | n ) W) | n
E p H 7.2 ~7.4 73 |2 8.1 ~8.4 8.3 | 2
ﬁ D O 5.0 ~5.4 5.2 | 2 9.1 ~9.5 9.3 | 2
?;*—; COD 3.5 ~ 3.6 3.6 |2 4.0 ~4.9 45 | 2
16 S S 12 ~ 16 14 |2 8 ~ 15 12 |2
H h—~*roamtimy <0.5 * 1 <0.5 * 1
NIV ND * 1 ND * 1
T IV LK ER ND * 1 ND * 1
BRI L <0.001 x |1 <0.001 x| 1
% <0.005 x |1 <0.005 x| 1
P NTVI=IN <0.005 x |1 <0.005 ¥ | 1
’f;f fits5 <0.001 x |1 0.002 x| 1
[ KR <0.0005 * |1 <0.0005 * |1
YL <0.002 x |1 <0.002 x| 1
meascommeas|  0.03 ~0.14 | 0.09 | 2| 0.01 ~0.25 |0.13 | 2
BT 1.3 * 1 0.8 * 1
ESES 3.1 x |1 1.5 x| 1
Sl <0.002 <0.002[ 2 10.002 ~ 0.003] 0.003| 2
P [y 0.005 ~ 0.006 |0.006| 2 [0.003 ~ 0.004] 0.004 | 2
B ALK 0.062 x |1 0.047 x| 1
I | wsfigite <~ 7 0.095 x | 1 0.016 x |1
H =T <0.005 <0.005[ 2 <0.005 <0.005| 2
7=/ — VM <0.02 x |1 <0.02 x| 1
| emRnEgE 0.12~0.20 [0.16 | 2] 0.042 ~0.24 |0.14 | 2
% ToE=THEZEH | 0.08 ~0.67 [0.38 | 2] <0.01 ~0.01 [<0.01] 2
j | THERREEE R 0.02 ~0.11 [0.07 | 2] 0.01 ~0.24 [0.13 | 2
HEegeZ % [ 0.01 ~0.03 |0.02 | 2] <0.01 ~0.01 |<0.01] 2

(F55) WA : pHARE. W% (me/0). NDIERHET,
5 TAIORILME 1> T BT [ ORI S5 LR,




